Innovative Door-Jack™

Assembly Instructions

Insert wheels to lower support tubes Insert support tubes to lower frame Install frame post P/N 430-013 on
P/N 430-010. Tighten with 3/4" hand support P/N 430-012. Tighten with lower frame support. Tighten with
wrench. 9/16" hand wrench. 9/16" hand wrench.

Bolt together front support plate P/N Attach support plate using 5/16" x 3 Screw in hand screw P/N 430-018 into
430-020 using 1/2" x 5/8" bolts and 1/2"  1/4" bolt to jack assembly P/N 430- jack assembly.

lock nut. Note: do not over tighten. 014. Note: do not over tighten.

Attach vertical supports
P/N 430-026, using plastic knobs
P/N 430-025.

-
Attach support arm P/N 430-016 to
support plate assembly using
5/16" x 2" bolts. Tighten with 9/16"
box wrench.

Insert upper support arm
P/N 430-024.

Bunge hook storage



Plastic Knob Innovative Door-Jack
www.innovativetools.com

Qty: 4 \

Tee Handle Upper Support Arm
430-022 - 430024
Qty: 1 \ Qty: 1
Vertical Support |
Qty: 2
Rear Support Plate Jack Assembly
430-014
430-020
Front Support Plate Qty: 1 Qty: 1
430-019 ’
Qty: 1
Flat Washer 1/2"
Hex Screw Hand Screw
1/2-13x 1-5/8 430-018
Qty: 2 Qty: 1
Support Arm Pad
430-017 Retaining Pin
Qty: 2 430-015
Qty: 1

Support Tube
Rubber Sleeve 430-016
430-030 Qty: 1
Support Arm Qty:2
430-029
Qty: 2
QO
Frame Post
\ 430-013
o Qty: 1
Total-Lock Caster Wheel o (oY
430-000 =

Lower Frame Support
430-012
Qty: 1

Lower Support Tube
430-010
Qty: 2




